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Total No. of Printed Pages: 03 

SUBJECT CODE NO: AA-1587 

FACULTY OF HUMANITIES 

B.A F.Y SEM I (CBCGS) (Pattern 2022) 

Examination November/December - 2023 

Economics - I (Compulsory) Micro Economics -I 

 

[Time: 1:30 Hours] [Max. Marks: 40] 

Please check whether you have got the right question paper. 

N. B 1) All questions are compulsory. 

 2) Use Only blue or black pen only. 

 3) Use pencil for diagram. 

 4)Use of any signs, attracting attentions is prohibited. 

 १)सर्व प्रश्न सोडवर्णे आर्श्क आहे. 
 २)फक्त ननळा ककिं र्ा काळ्या शाईचा पेनाचाच र्ापर करार्ा. 

 

 ३)आकृतीसाठी पेन्ससलचा र्ापर करार्ा. 
 ४)कोणत्याही लक्षर्ेधक र् सािंकेनतक खणु करण्यास प्रनतबिंध आहे.  
 

Q1 A)  Answer multiple choice questions (attempt all) 

1) Economics is a_______Science. 

             a) Chemical          b) physical          c) Natural               d) social 

2) Marginal utility approach propounded by______ 

a) Prof,Robins   b) Keynes    b)  Adam smith       d) Dr. Marshall 

3) The book ‘Wealth of nation’ was published in_________ 

a) 1776              b) 1780         c) 1900                   d) 1656  

4) “Principle of economics “was written by_________ 

a) Adam smith     b) Dr.marshall     c) Pigou       d) Devid Recordo 

5) Low of Demand shows a relation between the______ 

a) Quantity demand and quantity supply of a commodity  

b) Income and quantity demand of a commodity 

c) Price and quantity of a commodity. 

d) Income and price of a commodity. 

अ] खालील बहुपयावयी प्रश्न सोडर्ा. .(सर्व अननर्ायव) 
1) अर्वशास्त्र हे _______शास्त्र आहे. 

अ) रासायननक      ब) शारीररक      क) नैसर्गवक      ड) सामान्िक 
   2) ससमािंत उपयुक्तता दृष्टीकोन ____यािंनी मािंडला. 
      अ) प्रा.रौबबसस    ब) केसस      क) अॅडम न्स्त्मर्     ड) डॉ.माशील  
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    3) ‘राष्राची सिंपत्ती ’ हा ग्रिंर् ________मध्ये प्रकासशत झाला. 
       अ) १७७६     ब)१७८०    क) १९००   ड) १६५६ 
    ४) “अर्वशास्त्राची मुलतत्र्े ” हा ग्रिंर् _______यािंनी सलहहला. 
      अ) अॅडम न्स्त्मर्     ब) डॉ.माशील  क) वपगु      ड) डकेिड रेकोडव 
    ५) मागणीचा ननयम _________याच्यातील सिंबिंध दशववर्तो  
       अ) र्स्त्तूची मागणी आणण पुरर्ठयाच े पररणाम  
       ब) उत्पसन आणण मागणीच ेपररमाण 
       क) र्स्त्तूची ककिं मत आणण पररणाम 
       ड) उत्पसन आणण र्स्त्तूची ककिं मत  
 
B) Answer in a sentence (attempt all) 

1) Who is called the father of economics? 

2) What is the scope of the indifference curve ? 

3) What type of relationship is between price and supply? 

4) Who has started the concept consumers surplus? 

5) How is the scope of long run average cost curve? 

ब] एका र्ाक्यात उत्तरे सलहा.(सर्व अननर्ायव) 
1) अर्वश्स्त्राच ेिनक कोणास म्हणतात ? 
2) समर्तृ्ती र्िाचा उतार कसा असतो? 
3) ककिं मत र् पुरर्ठा यामध्ये कसा सिंबिंध असतो ? 
4) “उपभोक्याच ेसिंतोषार्धक्य”ही सिंकल्पना कोणी मािंडली? 
5) दीर्वकालीन सरासरी खचव र्िाचा आकार कसा असतो? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

05 

 

 

 

 

 

 

 

Q2 Explain concept/terms/unit/event (any two) 

(word limitation minimum 60 for each answer) 

1) Substitution effects. 

2) Cordinal utility approach  

3) Dynamic equilibrium  

4) Relativity of Demand. 

5) General equilibrium   

10 

Q2 सिंकल्पना /सिंज्ञा/र्टक/र्टना स्त्पष्ट करा (कोणतेही दोन) 
(प्रत्येक प्रश्नास ककमान ६० शब्द मयावदा ) 
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1) प्रनतस्त्र्ापना पररमाण  
2) सिंख्यात्मक उपयोर्गता दृष्टीकोन  
3) गनतशील समतोल  
4) मागणीची लर्र्चकता  
5) सामासय सिंतुलन. 

 
Q3 Attempt answer in short (any two) 

(word limitation minimum 60 for each answer) 

1) Explain the difference between micro and macro economics. 

2) Explain the hypothesis of indifference curve? 

3) State the importance of market equilibrium? 

4) State the exceptions to the theory of demand? 

10 

Q3  र्ोडक्यात उत्तर सलहा.(कोणतेही दोन ) 
(प्रत्येक प्रश्नास ककमान ६० शब्द मयावदा ) 

1) सूक्ष्म आणण स्त्र्लू अर्वशस्त्रातील फरक स्त्पष्ट करा. 
2) समर्तृ्ती र्िाच ेमहृीतके स्त्पष्ट करा. 
3) बािार समतोत्र्च ेमहत्र् सािंगा. 
4) मागणीच्या ससदधािंताच ेअपर्ाद सािंगा.  

 

 

Q4 Answer in Detail (any one) 

(word limitation minimum 200 for each answer) 

1) State the Nature and scope of Economics. 

2) Explain the characteristics   of indifference curve.  
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Q4 सवर्स्त्तर उत्तर सलहा.(कोणतेही एक ) 
(प्रत्येक प्रश्नास ककमान २०० शब्द मयावदा ) 

1) अर्वशास्त्राच ेस्त्र्रूप आणण व्याप्ती सािंगा. 
2) समर्तृ्ती र्िाची र्ैसशष्टे स्त्पष्ट करा  
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